SYSTEM MODEL PROBLEM:
MUSTANG VS. RAMBLER

Period:

Ms. Elaine Eous has decided to buy a car from the local Bee Plus Car Company. After shopping
for several days she chose to test drive a “racy red” 1962 Rambler and a “mellow melon” 1976
Mustang. The price of the Rambler is $1250 and the cost of the Mustang is $2960. She like both
~ cars, so she decided to ask her mechanic about problem she might face with the maintenance of
the automobile she chooses. The mechanic told her that the Rambler would average $150 per
month in expenses (gas included), but the Mustang would operate on $60 per month in expenses.

a) Write the equation for the total cost, R(t), of the Rambler in t months.
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b) Write the equation for the total cost, M(t), of the Mustang in t months.
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c) Find R(25) and M(25) and explain the meaning of your answers.
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d) Find when R(t) = M(t) and explain what your answer represents.
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e) How should she decide which car to buy? Explain your reasoning.
She <Shou \3 -Ctgurt out € che plons  on [4%?!“3 “the

cavr (D\r\f)w’ than |A mornbhng.


http://www.google.com/url?sa=i&rct=j&q=&esrc=s&frm=1&source=images&cd=&cad=rja&docid=X0iIyINg4wm26M&tbnid=KFhaGzw8KpFl7M:&ved=0CAUQjRw&url=http://www.ebay.com/itm/1955-Chevy-Nomad-Vintage-Cartoon-Car-Wall-Graphic-Man-Cave-Decor-Classic-Design-/160962609967?pt=Motors_Car_Truck_Parts_Accessories&vxp=mtr&hash=item257a1e832f&ei=73pQUpfMN4j6rQHNzYDgCw&psig=AFQjCNG82MzSxMflwslG97BA6zTsT0topg&ust=1381092455341524

f) Plot the graph of R(t) and M(t).
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